
 

 

                 𝒎         𝒏        𝒐 

𝐼𝐼𝐼) 𝑦 = (𝑥+1) (2𝑥+3) (3𝑥+4) 

𝑑𝑦 / 𝑑𝑥 = 𝑚𝑛 x 𝑑𝑜/ 𝑑𝑥 + 𝑛𝑜 x 𝑑𝑚/ 𝑑𝑥 + 𝑚𝑜 x 𝑑𝑛/ 𝑑𝑥 

 

 = [(𝑥+1) (2𝑥+3)] 3 + [(2𝑥+3) (3𝑥+4)] 1 + [(𝑥+1) (3𝑥+4)] 2 

 = (2𝑥2+3𝑥+2𝑥+3)3 + (6𝑥2+8𝑥+9𝑥+12)1 + (3𝑥2+4𝑥+3𝑥+4)2 

 = (2𝑥2+5𝑥+3)3 + (6𝑥2+17𝑥+12)1 + (3𝑥2+7𝑥+4)2 

 = 6𝑥2+15𝑥+ 9 + 6𝑥2+17𝑥+12𝑥+ 6𝑥2 +14𝑥 + 8 

 = 18𝑥2 + 46𝑥 + 29 

 

                    𝒎                   𝒏                 𝒐     

𝐼𝑉) 𝑦 = (𝑥2 +1) (2𝑥3 + 3𝑥2) (𝑥+1) 

𝑑𝑦 / 𝑑𝑥 = 𝑚𝑛 x 𝑑𝑜/ 𝑑𝑥 + 𝑛𝑜 x 𝑑𝑚/ 𝑑𝑥 + 𝑚𝑜 x 𝑑𝑛/ 𝑑𝑥 

= [(𝑥2+1) (2𝑥3+3𝑥2)] 1 + [(2𝑥3 + 3𝑥2) ( 𝑥+1)] 2𝑥 + [(𝑥2+1) ( 𝑥+1)] 

(6𝑥2+6𝑥) 

 

= (2𝑥5+34𝑥+2𝑥3+3𝑥2)1 + (2𝑥4+2𝑥3+3𝑥3+3𝑥2)2𝑥 + (𝑥3+𝑥2+𝑥+1) 

(6𝑥2+6𝑥) 

 

 = 2𝑥5+3𝑥4+2𝑥3+3𝑥2+4𝑥5+4𝑥4+6𝑥4+6𝑥3+6𝑥5+6𝑥4+6𝑥3+6𝑥2+6𝑥4+6𝑥3 

   +6𝑥2+6𝑥 

 = 12𝑥5 +25𝑥4+20𝑥3+15𝑥2+ 6𝑥 
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𝑑𝑦 / 𝑑𝑥 =  𝑚. 𝑑𝑛/ 𝑑𝑥 + 𝑛. 𝑑𝑚/ 𝑑𝑥 

           = 4𝑥 x 1/𝑥 + 𝑥 x 4 

           = 4𝑥 (1/𝑥+1) 

 

g) 

           𝒎        𝒏 

𝑦 = (1+ 𝑥2) 𝑒ax 

𝑑𝑦 / 𝑑𝑥  = (1+𝑥2) 𝑎𝑒ax + 𝑒ax x 2x 

𝑒ax (1+𝑥2)x a +2𝑥 

 

h) 

     𝒎      𝒏 

𝑦 = e𝑥 In 𝑥 

𝑑𝑦 / 𝑑𝑥  = e𝑥 x 1/𝑥 + 𝑥 x 𝑒x 

𝑒x (1/𝑥+𝑥) 
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